24.3.21 Can I choose and explain a strategy to solve problems?

18 + 7 =
Write the problem in words:



What do you know about the size of the answer?



Which strategy would you use to solve it?




18 – 7 =
Write the problem in words:



What do you know about the size of the answer?



Which strategy would you use to solve it?




10 x 2 =
Write the problem in words:



What do you know about the size of the answer?



Which strategy would you use to solve it?




10 ÷ 2 =
Write the problem in words:



What do you know about the size of the answer?



Which strategy would you use to solve it?






Now using your knowledge, solve these problems:
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26 + 5 =

26 – 5 =

8 x 2 =

8 ÷ 2 =

23 + 6 =

23 – 6 =

10 x 5 =

10 ÷ 5 =
